FOLLO DIEM MAT RACK =
145-012941

C€

11/10/08
Page 1




Follo Diemm Mat Rack 145-012941

Pos |Qty |Ref. no. Dim Benevnelse Description
12 12941-1 FOT FOOT
2 [ 2 12942-2 STANG BAR
3 | 2 | 532-004171 HJUL M/BREMS WHEEL
4 | 4 | 560-002043 M10x20 | UNBRACO SKRUE SCREW
5 | 4 29504-2 M10 FIRKANTMUTTER SQUARE NUT
6 | 4 | 560-002103 M10x25 | SKRUE SCREW
7 | 4 | 572-001959 M10 SKIVE WASHER
8 | 4 | 591-001964 PLASTHETTE PLASTIC CAP
9 | 6 | 591-001969 PLASTPLUGG PLASTIC PLUG
10 | 2 | 532-004170 HJUL
Tecnical information:
Width 66 cm
Length 139 cm
Height 110 cm
Weight 10 kg

€

”CE” mark indicates that this product complies with the European requirements for safety,

helth, enviroment and custumer protection.

Follo Futura AS, Brekkeveien 43, N-1430 As

NORWAY

——
—
—

FOoLLo

FUTURA




